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P M A J|IBER S 1,928,238 1,403,582 524,656
= 88,909
& 70,000
Il 238,000
& 350,400
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2l SIS 160,000 195,000 235,000
402 It XHE01H 160,000 195,000 235,000
01 S GEEX 160,000 195,000 A 35,000
0 EFdIcl=®X =4
30,000,000& = 4ha * 50% 60,000
0 E2d2I=X HIJIAAE K& (1ha) 100,000
b= AFAIE SIS ALY 32,500 54,000 221,500
402 LIt XHE01H 32,500 24,000 8,500
01 BIAXGEEX 32,500 24,000 8,500
0 2= ZIALXI(5L)
7,000,000 * BIHA * 50% 17,500
0 GIHAIEXI& (500 L)
6,000,000& * 514 = 50% 15,000
teatE 4 o XA 216,000 233,500 A17,500
402 212t XH=01 & 216,000 233,500 A 17,500
01 QA NGEEXR 216,000 233,500 217,500
0 2LHANZTHEAY 200,000
0 RS0 SN XI&
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0 =032 )| & R0IS KNIAAMY
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IE=E M2 SIS 5,000 5,000 0
301 EtE2A = 5,000 5,000 0
10 EALAHIBAS 5,000 5,000 0
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FTAAIZ Al &l =8 2 2teldl 5,400 6,900 A 1,500
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201 B3| 2,000 2,000 0
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= 60,000
2 165,000
402 Q12X 0| F 225,000 39,628 185,372
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o) YEY(ANY) AL 150,000 0 150,000
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0 2222 2 Al 3,000
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=2 43,509
2 43,509
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2 1,509
2 1,509
10 AFAIHIEAS 3,018 4,000 A 982
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